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Note :

1. This question paper has 100 questions. Each question carries 2 marks.

2. Read carefully instructions regarding method of answering questions given on the last page

and indicate your answers on the Answer-Sheet provided.

3, Use of any type of calculator or log table and Mobile Phone is prohibited.
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(a) 25
(b) 45 —
(c) 20
(d) 90

2. U@ iR F G@n It 9w R ww

Directions : (Question 1-3)
Read the diagram given below. Choose the

answer from the given options of the

following questions :

40

[ o ]
=
i
-]
ey
n
e il

\30

e

A =No, of persons who drink tea

O =No. of persons who drink coffee

D = No. of persons who drink wine

1.  Number of those persons who drink

only coffee :
(a) 25
(b) 45
(c) 20
(d) 90

2. Number of those persons who drink tea

and coffee both :
oy (a) 7
gt (b) 17
(b) 17 © 20
T
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3.

W sHfEi 6 o W9, FE i
e et i €
(@) 15

(b) 32

© 22

d) 24

T : T FYF & TG G T QSR
% | 3 T fifeea Hifve 6 R
b T @ 3TN B T HAR @ |

WA : T WA # weft 3y i wfeenat
i weferal & fore it fien g o=
& et =R 7

-1 : T8, Te TR UM T B
Y FHHI FHL M |

TH-11 ; &, W wfgemedi & 7"
FTOH T 1 TE THAT T ¢ |

(a) et Toh-1 TS R |

(b) et deh-11 F7E 2 |

(c) I k-1 TN qeh-1L WA & |

(d) et ah-I 3T 7 eh-11 Hoeql & |

@1 6n2 + 6n &l n TH THa G 8,
AT VI ®

(@) 18%
() 128
c) 63
(d 67128

Number of those persons who drink all,
tea, coffee and wine :

(a) 15
(b) 32
(c) 22
(d) 24

Direction : Two arguments are given
after a statement, you have to
decide which argument is strong
and which argument is weak.

Statement : Should  the complete
education for women and girls of
all the age groups to be given free
of cost in India ?

Argument I : No, it will weaken our
present social structure.

Argument II : Yes, it only is the way
to regain the glory of Indian women.

(a) Only Argument I is strong.

(b) Only Argument I is strong.

(c) Either Argument I or Argument II is
strong.

(d) Neither Argument I nor Argument I
is strong.

The number 6n? + 6n, where n is a
natural number, is always divisible by
(@) 18

(b) 12

() 6

(d) 6and12
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6. Tr=faRes # 4w mage 2 7
12 5, 23 e, 30 SardY, § Ry,

v
p

14 v
(a) 23 9Had)
(b) 30 9=l
(c) 5 Tt
(d) 14 Tavay
fdm: w.7-12)
ﬁm%f@awmaﬁrhqamm‘iww
e l ! { i
JYz-l-sﬁdEGMl:szmKLb@wq 1_3#CD@!)
i : 3
A @ﬁaﬁmiﬁﬁm%gﬂﬁ
l,_‘\ .
&3 0% 8 T8 T &R a7 2
o i
foreg ol 1 2 o
2 @™
T (b) TH
? (c) &
> (@ @

8. 2YS, Edf ® 36t yer g § 3

6. Which of the following is odd one ?

12* January, 23 January, 30" January,

5% September, 14" November
(a) 23 January

(b) 30" January

(c) 5" September

(d) 14" November

Direction : (Question 7 - 12)
Study the following and answer the questions :

JY2=S£dEGM:7$HPSKLb@WQ13#CD®©

7. How many such symbols are there each
of which is followed by a number or
preceded by a letter but not both ?

(a) Zero
(b) One
(c) Two
(d) Three

8.  2YS is related to Edg in the same way

PHK wwafe 2 as PHK is related to
(a) bQd@ (@) bQd
(b) @bL# (b) @bL
(c) WQEH (©) WQE
(d @bQ¥ @ @bQ
CGP - 18 - 02* Page No. 6
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W v o ¥ Rl vl & wre & Lo 9, How many such digits are there each of
et & 1 WA A TEA TH A 3 } which is followed by a symbol or
foeg <l el 7 preceded by a letter but not both ?
(a) Y (a) Zero
(b) T (b) One
) (c) Two
(d) T ARE T (d) None of these
10, ¥ fra s E e wds $ e da | 10.  How many such Jetters are there each of
TRI% T TES T G T & e QA which is followed by a number or
et ? preceded by a number but not both ?
__(a) WX (a) Four
b) o (b) Three
© a (c) Two
11, 39 e § 3N % fra oiH g ? 11. How many English numerals are there
@ 7 in this arrangement ?
— ) 5 S
(®) 5
6 2
hos (c) 2
@ 0 e (d) 0 (None)
CGP-18~02* page No. 7 Set-A
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I8 B TS B et vl we¥id | 12 How many symbols represent the
FHE 2 currencies of some countries ?
(a) -q,ﬁ-gtﬂq-gf (a) None
(b) =% (b) One
)R (c) Two
(d) &= (d) Three
13. ﬁwﬁ-rfaaaﬁ%vﬁﬁm HEXFAAE: | 13. The missing letters in the following
b_ _hj _n_rt btf_i_‘r[_ h jin P_T ¥ letter series in order are :
(a) bcim b__hj_n_rt
(b) cfgo (a) bcim
(c) dfgp - (b) cfgo
(d) dfip _ (c) dfgp
@ dflp
4. Frefafea WW 8 F o e 14, Which of the following figures can be
I3 T fom1 T i g et o ety drawn without lifting the pencil and
without repeating a line ?
) ZB ®) E ‘”AX "
oA o AN | o ] /A
_Aa) F99 (A) 3 (C) (2) Only (A) and (C)
(b) %ad (B) 3 (D) (b) Only (B) and (D)
(c) %a¥ (A) 3N (B) () Only (A)and (B)
(d) ¥4 (A), (C) 3R (D) (d) Only (A), (C) and (D)
PageNo.8 Set-A
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15, P et # & R, T sy,

) F g1 a7 IE g g ¢

»@D

16. 132 W Fdaud R gEiaE | 16.

o forg gue o firerft ?

(@ 1:30

>
® 1:50
( 1105
) 1:107;

3
(d) 1:1075

15, Which diagram shows district, state and

country in following diagrams ?

»@D

&

At which time the hands of clock will
meet together between 1 and 2 O’clock ?

(@ 1:30

f[3" = 81, thenn ="

17. afgA[3r=817T@n="? 17.
(a) 81 (2) 81
) 9 (b) 9
© © 8
(d) 6 @ 6
cGp-18-02* PageNo.9 " seth
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18, 112 /576 /256

112 /576 /256

' X i8
196" 12 X7g wuAd: 8. The value of 756 x "5 % g
(a) 32 (a) 32
(b) 36 (b) 36
(c) 28 (c) 28
(D (@) 24
o0 1 1 N D60 (-1
19, (1 3].(1-3].[1_3] [1_3 % |19, Thevale of(1~3)-(1 4)‘(1 5)---(1 n)
pich is
1
@ + R
' 2
®) 2 ®
2(n-1
_ 7 (c)
© 2nn 1 n
2
% (d) n(n + 1)
@ Sa+D
20. Complete the following :
2. FEH Ay YBV, TGT, OLR, IQP,
YBV, TGT, OLR, JQP, () EVO
(@) EVO ) FVM
(®) FVM () EVN
(c) EVN @ e
(d) FVN
CGP - 18 - 02* Page No. 10
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21, wagn i el yfar e fhan i ghyt | 21, All Saturday and Sunday are holidays
wh & | 3R v swadt 1 8, A se in a month. If the month is January,
F‘TWWM ? 3) then how many total holidays are there

in that month ?

(a) 8 .k { :I,,
R (a) 8
i ® 9
A © 10
/ (d) SR HY{ 2 | (d) Incomplete information.
ew : (9.22-26) Direction : (Question 22 — 26)
2 e T atE F1 38T IR alRggw | Study the graph given below and then give
STTUTRE 9T T IR ST ¢ the answer to the questions based on them.
0 4 | Percentage of Non-electrified Villages
w04 - e ® ;g { 60
60 + 60 o 50
50 50 S 50T 45
- T 4 1 I
S 404 (;? » e 30
- \ 30 = 30+ 25
301 25 = R | 20
20 i &=
T 10 +
10¢ . . ~
I L 0 g e hd e - f
o0 ¥ 9« ® T ¥ G States

22, g sy § fdiga owi %1 sfewa | 2. In which state percentage of elecirified '
village is maximum ?

Sfirare 8 ?

(a) A (@) a

(b) & (b) b
() § (€) ¢

@ 7 (@ d

CGP-18-02* page No. 11 o




23, m%mﬂm%ﬁ?ﬂwm
& For e 23 a1 oy s e
Terepfeper et et v sy et 2

Eﬁaﬂwmﬁﬂqmmaﬁﬂm
R ¢

(a) |
() §
(¢) 31

d) %

24, ﬁmﬁuw‘iﬁmﬁmao%maﬁﬂi

23,

If Central Governmen decided to help

Immediate electrification and started

from the stage having minimum
electrified villages, then which state

Will be fourth in preferential order ?

(@) ¢
() b
(¢) a

) f

24, In how many states electrification of
: the villages have been com leted
!rrrr‘ta?rﬁ‘ga‘lmﬁf ek atleast 60;: or above ? ]
() wig
(@) Five
®) f= ~ ) Thies
() ¥R (¢) Four
d @ (d) Two
25, B @ T ¥ ? waf T § g d | 25. In which state percentage of electrified
villages is double in comparison with
—wg\nﬁwmm%? state d ?
@ ¥ ~ (@) c
(b) ® (b) f
© & . »
@ i
CGP-18-02° Page No. 12
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26. TS 3 H fanaa witrera w1 fergefieo
AgHR?
(@) 65
(b 25
() 35

(d

T

75

fdw: w.27-31

Ar=ifee = o 291 (YRA 9 Jur) F AN B
fafir= mel W @ wehifa w1 § | 361 AT

F (7 IRl 1 T I T HINY -

L'/ =3¢0®

27. W99 W YRE $ T9 A & G H
T
fpaa T ® ?

- @ a8 | a1

") IWIAFA

3\

Bﬂ‘ (© awaw
@ Aa R~

26. How many percentage of villages have

electrified in state a ?
(a) 65
(b) 25
(c) 35

(d) 75

Direction : (Question 27 - 31)

The following charts shows the expenditures
on different items of people of two countries
(India and Nepal). Study them and find the

correct answer of the questions given below :

Travel | Education
45°| 49°
Other
50°
'7

A
>l

Nepal India

27. How many times is the expenditure of
India to expenditure of Nepal on food ?

(a) More than half
(b) Less than half
(c) Less than two times

(d) More than two times

Cad A
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28. UTer F AT W H AT Feqd WHA 28. How much more is the percentage of
=1 R stfovere st wd F@ & 7 total expenditure on entertainment in
comparison to food of the people in
(a) 62.4% Nepal ?
(b) 71.5% (@) 62.4%
(©) 41.7% By TLa%
(c) 41.7%
(d) T | IS TE
(d) None of these
i <l = = W W ows @ | 29, Whatis the approximate percentage of
fraa aftea R ? expenditure on other items of Indian
people ?
(@) 22% (a) 22%
(b) 14% b) 14%
() 9% () 9%
d) 17% (d) 17%
30, WRAHE <At %1 I W@ i S | 30. Whatis the ratio of expenditure on
j travel of Indian people and expenditure
Syt 7 A W@ J A FAAE ?
on travel of Nepal people ?
(@ 9:5 (@ 9:5
gy 2:5 () 2:5
¢) ‘58
© 5:3 ©
(d 3:4
d) 3:4
e war 3 » Set-A
m- “ = oz* Pue "o' “ -
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If the expenditure on education is

FRIE A NIRRT 2 5m@ 59 | 31
EIR B A1 ST 06T T frar @ e Z 22 lakhs 50 thousand of Nepal people,
' ¥ then how much their expenditure is on
entertainment ?
(a) T65TE 30 &I
(a) T 65 lakhs 30 thousands
(b) T 50T 60 TR
(b) T 50 lakhs 60 thousands
A () 60 lakhs
(@) R10TTE 20 FW (d) T 10 lakhs 20 thousands
3. TRATE A H IR0 MR | | 32, The weight of 2 bucket full of water is
If T Tt & el i & T SUH WK 20 ke If the bucket is half filled with
14 f5am. 2 | @Tel TR H VR e water, then its weight is 14 kg. How
fram 27 ¢ many kg is the weight of empty bucket ?
(a) 6f%.mm. (a) 6ke
) 7f5am. ®) ke
© 10f%m. (&) 1UKS
@ 8fsmm. (@ 8kg
33, ATATHHI B FAW: 2ue a1 3ue | 33, Two pipes can fill a cistern in 2 and 3
Ty gFa £ | Ife 31 79 T 91y a hours respectively. If both the pipes are
Rt @ o v B E S — opened together, then the time taken to
fill the cistern is
(2) 2ue 30 fre
(a) 2 hrs 30 minutes
3Ty (b) 5 hrs
(c) 350 fire (¢) 50 minutes
@ 19w 12 e (d) 1 hr 12 minutes
CcGP-18-02* Page No. 15 Set-A
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M. 250 et T T Yo o T A

12 A% # 7 et R | e B

T Reifier sfy wvar g 2

(@) 60

(b) 80
A8 7S

(d) S0

35. THIFH 2,700 F ¥ wIah A @
et & e o aeq Y 109 ey WA
R AT B 7, o 39 T F A
R ? 8
@ 2,700
~(b) ¥3,000
(©) ¥3,300
d 73,600

36. et R @a w1 dwe e
TS 37 <eT & A 15T | R
Iqehl T 40 M B, A 39 qa
deferfiz 7 -

(a) 20HX
(b) 24T
(c) 25HA

(d) THSIRE o

A |

~

9,

36.

A train of length 250 metre crosses a
pole in 12 seconds. How many
kilometres/hour is the speed of the
train ?
(a) 60
(b) 80
(c) 75

(d) 50

On selling an article at X 2,700 the logs
is the same as the profit if it was sold o
10% profit, then what is the cost price
of the article ?

(a) 2,700
(b) ¥ 3,000
(¢) ¥3,300
(d) 3,600

The area of a rectangular field is 15
time the sum of its length and breadth.
If its length is 40 metres, then what is

the breadth of the field 2
Lo l'g‘} i |
(a) 20 metres |
(b) 24 metres
(c) 25 metres

(d) Datais not sufficiens, LY



(

L

|| WA

¥ MEETEEERaTadfhn | 7,

If an amount is doubled in three years

# g @ g, a & wwafs wra at a given ratio of compound interest,
the same rate of compound
m—ituﬂﬁa‘m ﬁm then at
il ¥ ¢ interest in how many years it will
(a) 24 ad become sixteen times ?
(b) 16 a4 (a) 24 years
(©) 3;‘ (b) 16 years
8 years
@ 129t oy
' (d) 12 years
fdwm : (w. 38 - 40) Directions : (Question 38 — 40)

2 forerert A aft ‘B’ ¥ vhemee fr=ferfiga The examination results of two schools A and
afferer 3 feu mo & | 9 ford i % sy | B is given in the table below. Answer the

v & AT - following questions :
o A | fereera B School A School B
._ Classes
w0 | qhten § afen d Appeared (Pass|Appeared | Pass
8 ol I¥ol
*® IX 130 —— 90 50
X | — | 160 110 80
2 S xt | 160 |150] — |105
Q XI 160 150 —_ 105
Xim | 140 | 135| 10 | — AP L AL S | —
A v Rt 38. How many percent of the total number
38. ﬁﬂlllllliitﬁ of students of both the school are pass 7
m ? 2 Ak
n (a) 90.0
(a) 90.0 (b) 874
. 87.4
g:" /:l) 93'2 @ 932

— o~ 4 T

4
i
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39, @ fawrert & wen X % 94
& don
(a) 310
(b) 255
(c) 250
(d) 240

40. forenmers A* % wanL1x 3 #HH-X *
T B ATl et sfea
(a) 150.6
(b) 155.0
(c) 70.0
(d) 132.5

A 855
i) Pit/c/lar/r;a %1 314 you are good

(ii) dar tok pa 1 A% good and bad T
(iid) timngt},ﬂmﬂquc’qadﬁl

berd

41, F@ATTH ‘they’ % 10 fopa iz 7 waim
form g 7
(a) na
(b) tok
+~~(c) tim
(d) pit

39. The number of passed students of Class
X from both the school is

(a) 310
(b) 255
(c) 250
(d) 240

40. Average of passed students of class IX

and class X of school A is

(a) 150.6

(b) 155.0

(¢) 70.0

(d) 1325

Directions : (Question 41 - 42)
In a certain code language
(1) Pit dar na means you are good
(i) dar tok pa means good and bad

(iii) tim na tok means they are bad

41. Which code is used for ‘they’ in this
language ?

(a) na
(b) tok
(c) tim

(d) pit



42. ﬂ'ﬂﬂ A W IW I A F fw | 42 Which of the following statements may
frffes § @ 58 ®U9 1 g o be removed in order to find the answer
THaTR ? of the above question ?

(@) ¥ (i) (a) only (i)
(b) =T (i) UR el
©) T @) 3 (i) (c) either (i) or (ii)
(@ TR i) T i) (d) either (ii) or (iii)
43, WY A’ IH A IFR Q@ I @S ‘B° | 43, Prachi starting from place A towards
F T 10ﬁzzﬁ;@ﬁqﬁ, a9 98 et east upto place B covered a distance of
T T 31 3 e e, R A 98 1 10 feets, then she turned right and
% T 3K 14 Bz Telt | LA A Y moved 3 feets, again she turned right
- @q{ 3, and moved 14 feets. At how much
: i distance from place A is she 7
@ At A 3[1, (a) 4 feets
3
pfB).5 Hre (b) 5 feets
© 27%€ A WAL (c) 27 feets
1oFt
(d) 24%r (' (d) 24 feets
2

44, IR STEA2012F @waR A 319 | 44, If 5 January, 2012 was Monday, then
2013 HI P arfe e ? which was the day on 31% March, 2013 ?
O RRIEELS (a) Sunday
(b) @WER (b) Monday
(c) TEER (c) Tuesday
@ T FE (d) None of these

CGP~-18 - 02* Page No. 19 Set-A
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. ACAFT I 4, DFT ot PF X | 45,
IR S F1 3 - B, A 63A48D258P10 =7
(a) 46
(b) 64

- (@© 12
(@ 500

P3w: (0. 46 -43)

@) TH S T v g 4 2,
39 o S s d

) 58l x 4 3t 3 Rt 3R e @ A
TCE |

(i) 4 ¥ x 3 At ¥ Rt 33 ) Fem am
TR

Gv) ISR AR AT |

(V) FETEMH AR 1T TS
T A wR T |

46. T Tl & et T AT 7 i
(@) 12
(®) 16
© 22
@ 28

If A means +, D means +, P means x
and S means —, then 68A48D2S8P10 = ?

(a) 46
(b) 64
(c) 12

(d) 500

Directions (Question 46 - 48) :

(1) A wooden cuboid has length 4 cm,
breadth 3 cm and height 5 cm,

(i) Opposite sides of 5 cm x 4 cm are
coloured red.

(iii) Opposite sides of 4 cm X 3 cm are

coloured blue.

(iv) Remaining two sides are coloured

green.

(v) The cuboid is cut-off to divide into

cubesof lecmx 1 emx 1 cm.

How many cubes will have only one
colour ?

(@ 12
(b) 16
(c) 22
(d) 28

€GP - 18 - 02* Sa——
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FR A astdmTmaEn ¢ 47. How many cubes will have all the three
2
(@) 14 colours ?
b) 12 oy
: (b) 12
940 (c) 10
48. PR ARST AR ? 48. How many cube will have no colour ?
(@) = (a) Nil
®) 6 (b) 6
) 4 (c) 4
d 2 (d 2
49, sRforafeumue |t s Slgad" | 499. Four options are given. There is
F FHTaT & | R Rrsseq 1 a1 TR | similarity in three excluding one. Find
the option which differs.
(@ § (a) To hear
(b) =edr (b) To climb
(c) (¢) Toswim
@ Fem g
50. SIS g WA R AE qE R - 50. The correct number at the place of
question mark is
36 ?
5% 36 ? ?
G/ (125
KO
@).4 @) 4
" 2 (b) 25
(c) 36 (©) 36
@ 10 @ 10
CGP~18~-02* Page No. 21 Set-A
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51. U TR e R o 5 A EF
R 3 A Pren v e e Foran AT
& | o Q) g Fovep o e a R A
e T e 3 e 1 o &

W |Ln

(a)

|-

(®)

w

©)

olmx e

(d

52. < UEf v R e ot ot o R

T F A H 2L, 8
(a) I BIArrH T
(b) =IE e e

(c) U HEHT YATCH TS Teh FHOTCHS

(d) 9 A B T

S1.

52.

From a circular plate of radius 5 cm. a
disc of 3 cm radius was cut, whose
centre is the same point as of plate.
Now, have two items a disc and a

washer. Find the ratio of area of disc
with washer,

Lh

@ 3
®) 3
(©) 1—96'
@

Find two numbers such that the

difference between, their square of sum

and sums of square is 2.

(a) Only imaginary numbers

(b) No numbers

() One number positive and other
negative

(d) None of these

53. 50 & %W WTHa A & fhat gmas | 53. How many pairs of natural numbers
; A ; lying below 50 will satisfy the

1% P o agR FA E, 3 A condition that the ratio of their
MTFH A2 TR ? difference to their sumis 2 : 7 2
(®) 2 (b) 2
© 1 () 1
@ =it & FE 7 (d) None of these

CGP- 18- 02* Page No. 22
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54, T, 7 3 ¥R UF 7 B FE: 30/ | 54, Ram, Shyam and Hari can do a piece of
45 aﬂtﬁoﬁﬂﬁmmﬂ | 7f2 3 forereny work in 30, 45 and 60 days
tively. If - /
70 %1 % 0 ¢ 7,800 FA §, 79 Aepeotipely.. N oy ORcim.
together and eam T 7,800, then what
H ! amount Ram will receive ?
(a) ¥3,800 (a) 3,800
(b) ¥3,600 (b) 3,600 ¥
(c) 23,400 (c) T3,400
(d) 3,200 (d) 3,200
55, U Wl 40 fefi /g fr At |, 3ft | 55, A train with speed 40 km/hr crosses a
T ¥ 25 ot vz ) v & 5ol T man, moving in same direction of speed
: in 48 ds. What will be
Hﬁﬁﬁaﬁ,mﬁ T ST f 25 km/hr in .secon S at w
the length of train ?
61 TS T gt ?
(@) 50 metre
(a) 507t
(b) 100 metre
~(b) 100 e
(c) 200 metre
(c) 200
(d) 400 metre
(d) 400 X
56. ﬁmﬁrﬁmaﬁﬁaﬂﬂﬁm 3t ? 56. Which number will appears in
\/‘?\ following square ?
$2.5.4 |:| 8, 81,
% 3,2,9,4, D, 8, 81,16
—(a) 27 (@) 27
(b) 21 (b) 21
(c) 18 (c) 18
@ 15 (@ 15
CGP - 18- 02* Page No. 23 Set-A
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57, Pofifye wut v Ren @R §7.  Consider the following statements :
(1) SWHIME ReE tmﬂ (1) A team leader need skill 1o assess
strength and weaknesses of team
T ol el & e
members.
< WS amEws )

(1) A team leader need skill to develop
() T T ¥ Y & fore suf AR

specific individual goals and 1o

(513 ﬁtm RS mm m ¥ establish a common goal for the
ﬁ 'f = ﬂ t I team.
E‘Iﬂﬁﬂiﬂﬂﬁ‘éaﬁ?m ;gwtrﬁ ? Which of the above statement(s) is/are
correct ?
(@) F9 (1)
@) Only (1)
(b) FI (ii)

(b) Only (i1)
© O @)

(¢) Both (1) and (i1)
@ T IRIAD Gi)

(@) Neither (1) nor (i1)

58. fF=fofea & @ o @ w-anff gdwoy | 58,

Which of the following is an example

T IEOR ? of one-way communication ?
~(a) T eAifasm (ig'qqh) HTwY (@) A television programme
(b) TF Ha-Hy wRfeufy x (b) A classroom situation
(¢) T EHEH Y ' (¢) A conference
(@) freh fewawdes | (d) A meeting on an issue
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iy : (1. 59-62)
ﬁmﬁ%ﬂ@ﬂmﬁ*wm
¥ s e :

s, T, S ST, S,
gﬁaﬁaﬁamﬁﬁﬁlaaﬁwﬁﬁﬁ
Rt STETAT ¥ JUl Hehfwehed, %ﬁﬁﬁ’
ﬁiﬂiaﬂtgﬁﬁﬁﬂﬁ%@% | 3 8 g
s T 2 | 5 @ v R § o
er 7 e, e, BT, ST, Tty
aiefiater it a2 e 8 00 A i
s 1 & | S w S B 7
Wﬁ?ﬁ@ﬁ@%m%m
e g § 3R afefieie G R | 3
iR Tad & ik G § T T der
3 | 5 Hfirper vgar & 9% fhshe Qe @ | S
Freaiel Gerdl § 98 Hr HIsd Tadl & | e
W%mﬁmﬂgﬁm@m%mﬂt
Seizehet UGaT | TSI Hiehel 781 Jad1 ¢ |

wet
59, Feaict B Qe g ?
(2) AT i
(b) 3 ”[
Ac) HEH
(d) I

L ——

Direction : (Question 59 - 62)

Read the following information carefully
and answer the questions :

Ajay, Avinash, Amit, Alok, Arun, Anil
and Akhil are seven friends. They are studying
engineering in different branches such as
Mechanical, Chemical, Electronics, Computer
Science, Information Technology, Biotech and
Electrical not necessarily in the same order.
Each of them also excel in one of the following
games such as Football, Cricket, Hockey,
Badminton, Squash, Volleyball and Lawn
Tennis, again not necessarily in the same order.

@7 plays Hockey and neither studies
Electrical nor Information Technology. Arun
studies Electronics and plays Volleyball. Ajay
studies Biotech and does not play either
Football or Squash. The one who studies
Chemical plays Cricket. The one who plays
Football studies Computer Science.@plays
Squash. Akhil plays Badminton and studies

Electrical. Alok does not study Chemical. -~

%Ms Football ?

i (a)y(@;% &

(b) é)@n"’r .
4f). Alok f@‘
@ W)

o

S
—soll W
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60.  ifver Rt wgw § 7
(a) Hfwa

(b) T Sy
PROREEE

(d) FIR Ty

61. frefRea i o Qe svaQaae ? | 61

(a) ferehe

(b) Fedid
(c) Aefirm

@ @FdFE

62. AT FRTIGAR ?

62.

What does Anil study ?

(a) Chemical

(b) Information Technology
(¢) Mechanical

(d) Computer Science

Which of the following game does Ajay

play ?

(a) Cricket
(b) Football
(c) Badminton

(d) Lawn Tennis

What does Avinash study ?
(a) Chemical

(b) Information Technology
(c) Mechanical

(d) Electrical
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5 3T R @ IBER S :‘ﬂ$ 63. Two fair dice are thrown mdependem!y
Rewe) Sy by a player and needs a total of 5 to win
LETIE lamwﬁﬂﬁmm the game. What will be his probability
2 of winning the game ?
(a) 3 2
{ (a) 3
(b) 3 1
® 3
1
© 3 1
; © 3
1
@ 1
@ 3
64. T lm3tﬁx2tﬁ%a3a’!?ﬁ 64. A plot of size 3 m X 2 m is dug upto
HIEU TR TeH 39 vt & 5w St e depth of 1 m. The soil taken out was
1 used to form a boundary of the said plot
5 I Al W e T o R , et
to a height of 5 m with uniform
Igh et T @ A 35 (Fe) § ;
'E:T'ﬂ y thickness of the boundary, then the
1S ‘ /\ ; thickness of the boundary will be
1 . 1
(a) ftﬁ (@ 7m
3
® 5 ) pm
2
2 “
© 5 S g
! (d) None of these
(d) A HE T
65. et 2 B ® T:Fr%; He T T 65. In a. circle pf Faczli:s a, 'trl';f sc:ll.llare of
- maximum size is drawn. Then the ratio
FE T HETH ] o A T ST of area of circle and the area of square
(@ =
(b) % T
3 ®) 3
(&) = 2
1: € =
(d) ¥ @B T (d) None of these
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ity foreag w7l & - N, ‘e s e o TE 2 -
(a) GRf - g + ity (a) orfdi
(b) WIS —%: + fy (b) TR
(c) TS — o + IS © Prow
(d) 9T - + 37 i A
e mﬁmm%_ 2. U ERFTHRE -
(b) refrer (@) B
() =M (b) &=
(d) Ee (c) T
(d) HIHR T
68. ‘3ATE et 7 AT 1w e R -
(2) YT TG T | 73, Frefafga & & eaw’ W R -
(b) g 7 Grem | - o)
< (c) e wE | &
(d) T HE | b s
69. ‘TH @ Hen, g Fw TG AR BN (d) =
af -
(2) et hi I i W T T R | 74. <1 1 GAEEE e R -
(b) A 3R i qH-T IR E | (a) SNTERT
(c) gﬁﬁaﬁﬁmﬁwaﬂtw ) frvann
ST | ' © W
ey iﬂgﬂwﬂwmm@a - ERY
70. FHAIE AL R ? 75. 9wt wfEm s -
(a) 3= (@) IR
(b) P71 (b) e
(c) Ss9Edd () T
(d) I~9d | @) fr
CGP - 18 - 02* : 7Y
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7. qqeelt #R 7 80. mﬁﬂﬁﬂ'%mm
(a) "B ggﬁﬂﬂ??
(b) (a) BTt T
(c) i (b) BTl FeT
(d) feafereft Ac) T 7T
77, e wafie & v wrer - ‘2R s s g
Eﬁéﬂlﬁ?ﬁ g1, o g e e 1 X
TR 7 T
(a) Wi S R
(b) e i W
(c) e 3| Oy
(d) STTEAT T o i
8. ‘g B B R e g | :'%“ ol ddy
27 ;
o (a) TAEE
(b) 3TeFReT AT &L WA “ e
- (c) WA Y
B et (d) H TG -
7. “Framdif AT ¥ R sdET g 83, G TR I B —
s giie-gufea vemr, msd
(a) Hrger B (&) i |
(b) Hrad-sier G ®) ggr”
(c) g & (©) Jgm —
(@) Hri-gfa & (d) ww&r —
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84, s AREiEerR R | 87, o s & foa @ H o
TR SEU iR
o T o e ofw @ 9 el
_a) HIHST I[EEﬁ'H
(b) Shiaf (a) &&U
(by
WA
- (c) dfean
@ o (d) <=0
85. THETE AR R EHA R - | 88, SIS I HI I M~
LRI
EIS &9 & U, BR W H T % S HiE
(a) T
(a) ®i& )
(c) et (d) e *
(d) S 89. weael Toryl feaw Y it weee -
(a) 28 TR
86. ST cia & R @ R LA (b) 14 T
e - (c) 21 H&l
FHAIT-TERET T 3T, T TE* (d) 14 Rt
i 90, ‘BT % Hy =R FoH g f
(2) Hifea PR TSF o T GEAED D 8 7
i, Tt
_(b) & (a) gf‘ﬁﬂaw
(b) i, famet $HR ISH
g (e (c) Trereg g
(d) gl (d) T foranth
SetA
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i
e

I
o

okt X | :
@ R 9%, e o FrafeRIe I E -
o) T @ 3
freg (b) T
i (© T
@ @ @ TR
(a) 3 ?ﬁ(%?
a
o () L
(c) & b 1
s @ ¥
93, ‘TRGU HRH HITRAR ? o8, weftEE SIE ‘T R o, T A
(a) T q\w’mmaﬁ% ?
b (a) IcTHd
(b) © e —
(c) N ©) TR
(@ @ ) W
94, ‘ST YIS 1 WEaEA H1 € ? 99, 2w e Frm TR F AR ?
@ €& (a) HfrerFe
- (b) T
(b) &1 €
i o
(d) TEAARESY
100. ‘S H A TR ?
95, ‘i weg 1 Fas (ST I e & o A
BT - A T afrear UG I |
(@) PRga (a) 9%
(b) Frdm (b) femd
) Frafe (c) Hgd
(d) PR @ g
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